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No.O
EL1 100.000 99.990 -0.010|-40 +40(-20 +20)
EL2 100.000 99.990 -0.010|-40 +40(-20 +20)
EL3 100.000 99.990 -0.010|-40 +40(-20 +20)
tl 20 21 1} -25 (-13 )
12 20 21 1} -25 (-13 )
13 20 21 1} -25 (-13 )
B 5.000 5.025 0.025| -50 (-25 )
hi 500 505 5(-40 +40(-20 +20)
h2 500 505 5(-40 +40(-20 +20)
h3 500 505 5(-40 +40(-20 +20)
No.1
EL1 110.000 110.020 0.020|-40 +40(-20 +20)
EL2 110.000 110.020 0.020|-40 +40(-20 +20)
EL3 110.000 110.020 0.020|-40 +40(-20 +20)
tl 20 22 -25 (13 )
12 20 22 2 -25 (-13 )
13 20 22 -25 (13 )
B 5.000 5.035 0.035| -50 (-25 )
hi 500 510 10]-40 +40(-20 +20)
h2 500 510 10]-40 +40(-20 +20)
h3 500 510 10]-40 +40(-20 +20)
No.2
EL1 120.000 120.035 0.035|-40 +40(-20 +20)
EL2 120.000 120.035 0.035|-40 +40(-20 +20)
EL3 120.000 120.035 0.035|-40 +40(-20 +20)
tl 20 24 -25 (13 )
12 20 24 -25 (13 )
t3 20 24 -25 (13 )
B 5.000 5.045 0.045| -50 (-25 )
hi 500 520 20|-40 +40(-20 +20)
h2 500 520 20|-40 +40(-20 +20)
h3 500 520 20|-40 +40(-20 +20)




